34
12
13
26
13
13
LiJ

1

&
&t

1

(ARh TIRURK LR 2 S
5/0/0

$M3IFE9A3MA

2

1

1
0/ 0

1

0
2|12(3|2|0

1

0/2/3|2|3|4

0

1

0
1

M HE| 2| ¥ A K| X |8
0

8,024

2

500
3

i
1

N
4

2

1
1

1

0
0

| f | R0 R & A7 | B |W B B8 |8 |H

W% | &
ojo0joO0
1
1

1

b
2

l!lm

#% 0/ 0| O

& %5 0

#5 0/ 0|00
#wuml 0| 0|3 (0|4
wisE|EE| 0 | O

#= 0|0

3 EREHRERR

L1

(ATEE R LD *ILL)
13
11
2
18.2%
A
A)
ol
i
-3

]
4w ST NMO®r— 0 (<
m“ m A=311211 @ NN
| R =
LR EREEEE —-°ololy m o =298
&+ - ~ | R :Ne
SEEEBEEEEEE o N | o P
LI . s 3k %
RN RN x v TNEEEE
Ela|u|mw|mio|m mlk® o < N oo o~ ® =
M EEEEEEEEEE - M= r—|N - - @ +
o | R © S 3
= SR EECEEEEE
& #
F'S =.m *5
ueoo o|0O|0|O| ™ @
o B © % | K
® ~[o olo|e =) ™
- 5 * & 3
HEEEEEEEEEE " 3
= = < €| X o
. SR | | R m
m H ® w B o s
Elmie|d/8 @ oK o|lc ol ® ® "
w|O|O|O|o(—~|Oo|N|O|O|O m aﬁ #
L
e B - (N
Enu oo © ~[~ o ®|O o i © o > ® | #
: & N R " ]
& = = g I X 5
(¥ A NE b 5 b # %
MEEEEEEEREER # # # # # ¥
# - &+ ® ® # ® ® g ®
[ ha I I # ® S =® &
W E[EE[ETE[EETER[E & m ﬁm i
=3 w = 4 i i @ *
B JE[*% wne|® s «® S & e * £ R| ® *
<+ E¥ R s R W RIK R T 10 © ~
< |ov|o|wo| oo | =T © T ola|o|t|o|m|— =
| r=|v= ||| v D || ||| v

8
7

14
6
0
0
-2
1

MIFENKDFEHIFEERK

11
17

AXE | T—0

(REEE R
3| 22

D
T

12
13
=1.7%
X R
#
e
13

-5

0

n

13| 26

34
26
30.8%
FY

12

]

16
1
0

34
1
1

B EE BE| K| EE BE| B EE | BE

(REIZZTHFAEERT)

BKIRE TOf

=5
Y

L1g

LR !
ik
it
(2
SLUEEH
K20
SLUEEY

L U
R(R)IMAY

1 KOBEHREERR (RIT)
4

w | OB W™
LA I3
2 BERORE
(1) J{RR

(2) 1755

B oM OE
(3) A (A¥)

—MR(3250E ~ 644, WiHE(L65RLLLETT,

HEHEOM)IZ168~ 248 [HEREEMRC]

%

-3

0

Ot
SLUREY
z Ot

*H




